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Roll No. ....................................                                                  
Signature of Invigilator ……………………… 

    

  iratfy fo'ofo|ky; 

University of Patanjali 
Examination Dec. – 2017 

 

B.A. (With Yoga Science)     Semester: Third 

Psychology 

 Psychological Statistics 
Time: 3 Hours                     Max. Marks: 75

Note: This paper is of seventy five (75) marks divided into three (03) sections A, B, and C. Attempt the  

questions contained in these sections according to the detailed instructions given therein. 

uksV % ;g iz'ui= ipgÙkj (75) vadksa dk gS tks rhu (03) [kaMksa d] [k] rFkk x esa foHkkftr gSA 
izR;sd [k.M esa fn, x, foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 

 

Section - A @ [k.M&d 
(Long Answer Type Questions) @(nh?kZ mÙkjh; iz'u) 

Note: Section 'A' contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any 

three questions.                                                                                                           (3×15=45)  

uksV %  [k.M ^d* esa ikap (05) nh?kZ mÙkjh; iz'u fn, gSa] izR;sd iz'u ds fy, ianzg vad fu/kkZfjr gSaA 
fdUgha rhu iz'uksa ds mÙkj nhft,A 

1. euksoSKkfud ekiu ds fofHkUu Lrjksa dk o.kZu dhft,A 
Describe various levels of psychological measurement. 
 

2. fuEufyf[kr 50 izkIrkadksa (N=50) ds fy, vkòfr forj.k dh jpuk dhft,A 
Draw a frequency distribution for the following 50 scores (N=50) 

150 135 143 111 135 169 146 139 145 131 

115 143 144 110 142 126 145 131 152 147 

141 114 131 153 156 144 134 135 147 153 

144 129 127 151 124 146 131 160 141 154 

166 152 125 135 121 146 131 140 151 140 
 

3. fuEufyf[kr oxhZd̀r çkIrkadksa (N=43) dk e/;eku nh?kZ fof/k }kjk Kkr dhft,A 
Calculate the Mean of the following grouped scores (N=43) using long method. 

C.I. 80-84 75-79 70-74 65-69 60-64 55-59 50-54 

F 4 6 7 9 5 8 4 
 

4. fuEufyf[kr oxhZd̀r çkIrakdksa (N=42) dk ekud fopyu (�) Kkr dhft,A 
Calculate the standard deviation (�) of the following grouped scores (N=42). 

C.I. 64-68 59-63 54-58 49-53 44-48 39-43 34-38 

F 8 6 9 7 4 5 3 

 

5. 200 fo|kfFkZ;ksa dh cqf¼yfC/k&izkIrkadks (I.Q.) dk e/;eku 100 gS rFkk ekud fopyu 10 gSA 
;fn vad forj.k izlkekU; gks rc crkb, & 
(d) 120 ls vf/kd cqf¼yfC/k (I.Q.) okys fo|kfFkZ;ksa dh fdruh la[;k gS\ 
([k) 90 ls de cqf¼yfC/k (I.Q.) okys fo|kfFkZ;ksa dh fdruh la[;k gS\  
(x) 90 ,oa 110 ds e/; cqf¼yfC/k (I.Q.) okys fo|kfFkZ;ksa dh fdruh la[;k gSa\ 

 

Paper Code 

BA 304 



Page 2 of 4 
 

Mean and Standard deviation of I.Q. scores of 200 students are 100 and 10 respectively. 

Assuming the distribution of scores is normal calculate - 

(A) How many students score above 120 I.Q.? 

(B) How many students score below 90 I.Q.? 

(C) How many students score between 90 I.Q. and 110 I.Q? 

 
Section - B @ [k.M&[k 

(Short Answer Type Questions) @(y?kq mÙkjh; iz'u) 
Note:  Section 'B' contains Six (06) short-answer-type questions of five (05) marks each. 

Attempt any four (04) questions.                                                                              (4×5=20) 

uksV %  [k.M ^[k* esa N% (06) y?kq mÙkjh; iz'u fn, x;s gSa] izR;sd iz'u ds fy, ikap vad fu/kkZfjr 
gSaA fdUgha pkj iz'uksa ds mÙkj nhft,A 

1- euksoSKkfud ekiu dk D;k vFkZ gS\ 
What is the meaning of psychological measurement? 

2- lrr rFkk [kafMr Ük̀a[kyk dks leÖkkb,A 
Discuss the continuous and discrete series. 

3- vkòfr forj.k dk vFkZ Li"V dhft,A 
Explain the meaning of frequency distribution. 

4- fopyu'khyrk ds laizR;; dk o.kZu dhft,A 
Describe the concept of variability. 

5- ddqnrk ,oa fo"kerk dk mYys[k dhft,A 
Discuss about Kurtosis and Skewness. 

6- lkekU; lEHkkO;rk oØ dh fo'ks"krk;sa D;k gSa\ 
What are the characteristics of normal probability curve? 

 
Section - C @ [k.M&x 

(Objective Type Questions) @(oLrqfu"B iz'u) 
Note:  Section 'C' contains ten (10) objective-type questions of one (01) mark each. All the questions 

of this section are compulsory.                                                                  (10×01=10) 

uksV %  [k.M ^x* esa nl(10) oLrqfu"B iz'u fn, x;s gSa] izR;sd iz'u ds fy, ,d vad fu/kkZfjr gSA 
bl [k.M ds lHkh iz'u vfuok;Z gSaA 

1- lkekftd&vkfFkZd Lrj dk ekiu fuEukafdr esa&ls fdl ekiu dk mnkgj.k gS --------- 

¼v½ ukfed ekiuh    ¼c½ Øelwpd ekiuh 

¼l½ vUrjky ekiuh    ¼n½ vuqikr ekiuh  

The measurement of socio-economic status is an example of ……………. 

(A) Nominal scale     (B) Ordinal scale 

(C) Interval scale     (D) Ratio scale  

2- forj.k dk lcls vf/kd 'kfDr'kkyh izfrfuf/kRo djus okyh dsUnzh; izòfRr dkSu&lh gS\ 

¼v½ e/;eku     ¼c½ e/;kad 
¼l½ cgqykad     ¼n½ buesa ls dksbZ ugha  
Which central tendency is the most powerful representative of distribution? 

(A) Mean      (B) Median 

(C) Mode        (D)None of these 

3- fuEufyf[kr izkIrkadksa ds e/;eku dh x.kuk dhft,A 
2]  4] 5] 6] 8] 9] 1 

¼v½ 5      ¼c½ 6 
¼l½ 4      ¼n½ 7  
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Calculate the mean of the following scores. 

2,  4, 5, 6, 8, 9, 1 

(A) 5        (B) 6 

(C) 4      (D) 7  

4- fuEufyf[kr izkIrkadksa ds cgqykad dh x.kuk dhft,A 
1]  2] 1] 1] 2] 1] 3] 4] 1] 5 

¼v½ 2      ¼c½ 1 
¼l½ 3      ¼n½ 6  
Calculate the mode of the following scores. 

1,  2, 1, 1, 2, 1, 3, 4, 1, 5 

(A)  2      (B)  1  

(C)  3       (D)  6 

5- fuEufyf[kr izkIrkadksa ds e/;kad dh x.kuk dhft,A 
12] 3] 4] 6] 8] 7] 9] 5 

¼v½ 6-5      ¼c½ 7-5 
¼l½ 6      ¼n½ 8 

Calculate the median of following scores. 

12, 3, 4, 6, 8, 7, 9, 5  

(A)  6.5      (B)   7.5 

(C)   6      (D)    8 

6- forj.k esa lcls vf/kd vkòfRr okyk izkIrkad gksrk gS -------------- 

¼v½ e/;eku     ¼c½ e/;kad 
¼l½ cgqykad     ¼n½ e/;fcUnq   

Most frequent score of the distribution is ……………………. 

(A) Mean     (B) Median  

(C) Mode     (D) Midpoint  

7- forj.k ds e/; esa ,d ,slk fcUnq dks ftlds Åij 50 izfr'kr izkIrkad ,oa ftlds uhps 50 
izfr'kr izkIrkad vkrs gSa dgykrk gS ---------- 

¼v½ e/;eku     ¼c½ e/;kad 
¼l½ vkòfRr     ¼n½ e/;fcUnq 
In the middle of a distribution a point above which 50 percent scores fall and below which 50 percent 

scores fall is called …………………… 

(A) Mean      (B) Median  

(C) Frequency      (D) Midpoint 

8- lkekU; izlaHkkO;rk oØ dh vkd̀fr gksrh gS -------------- 

¼v½ ?kaVkdkj     ¼c½ xksy vkd̀fr 
¼l½ vaMkdkj     ¼n½ oxkZdkj vkd̀fr 
The shape of a normal probability curve is …………… 

(A) Bell shaped      (B) Round shaped  

(C) Egg shaped     (D) Square shaped  

9- lkekU; izlaHkkO;rk oØ dh vk/kkj&js[kk foHkkftr gksrh gS -------------- 

¼v½ 6 flXek bdkbZ;ksa esa   ¼c½ 5 flXek bdkbZ;ksa esa 
¼l½ 2 flXek bdkbZ;ksa esa   ¼n½ 3 flXek bdkbZ;ksa esa 
The base-line of normal probability curve is divided into …………. 

(A) 6 Sigma units    (B) 5 Sigma units  

(C) 2 Sigma units     (D) 3 Sigma units  
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10- foLrkj Kkr djus dk lw= gS ---------------- 

¼v½ mPpre vad lhek & fuEure vad lhek  

¼c½ (mPpre vad lhek & fuEure vad lhek) × 2 
¼l½ (mPpre vad lhek & Z vad)  
¼n½ mijksDr esa ls dksbZ ugha 
The formula of calculating the range is …………… 

(A) Highest Score – Lowest Score   (B) (Highest Score – Lower Score) X 2  

(C) (Highest Score –-Score)    (D) None of the above  

 

---------------x--------------- 

 

 


